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byte X, y:
y = byte.Parse(Console.ReadLine());
x = byte.Parse(Console.ReadLine());

Console.WriteLine((x==2) && (y==5));
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byte X, y;
y = byte.Parse(Console.ReadLine());

X = byte.Parse(Console.ReadLine()):
Console.WriteLine((x==2) || (y==5)):
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string weather;
Console.WriteLine(" weather:");

weather = Console.ReadLine();
Console.WriteLine("weather is not cloudy: {0}, weather!="cloudy");
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Console.Write("Enter num1:");

int num1 = int.Parse(Console.ReadLine());

Console.Write("Enter num?2:");

int num2 = int.Parse(Console.ReadLine());

Console.WriteLine(" {0} greater than{1} > {2}".numl.num2.numI>num?2);
Console.WriteLine(" {0} less than {1} -> {2}", numl, num2, numl < num?2);
Console.WriteLine(" {0} equal to {1} > {2}", num]l, num2, num1 == num2);
Console.WriteLine(" {0} not equal to {1} -> {2}", num]l, num2, num1'= num?2):;
<)

Console.WriteLine("Enter an integer:");

int myInt = int.Parse(Console.ReadLine());

bool isLessThan10 = mylnt < 10;

bool isBetweenOand5 = (0 <= myInt) && (mylnt <= 5);
Console.WriteLine("Integer less than 10? {0}, isLessThan10);
Console.WriteLine("Integer between 0 and 5? {0}, isBetween0And5):;
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